PL(F)//WPL Fsecries
B e &k




Motes of product ordering

iR BB A AT B R BA

ordering code 5] & R/ B SRA £ AA

PL(F) 90 L2 - 32
MODEL || SIZE || STAGE Ratioi SREIEE @ :
RIS R P s s
40, B0 Li: 15/ 3.4.5.6,8.10
Lz:
g0, 120 | L 2R 9.12.15. 16. 18.
140, 180 |L3: IEE 20.24.25.30.32 .
200 La; 4ERR ES14014E1E4
------ 60, 84, 72, 75, 80,
80, 100, 120, 144,
150, 180, 180, 200,

240, 256, 288, 320,
384, 512, soo, 800

\ 2

ordering code §] & fCRE/ B GRAR X an HA

WPL(F) 90 Lz - 64
MODEL SIZE STAGE Ratioi @ik
I R i FEwaN Lis

40, 6O Li: 108 3.4.5.6,8.10
I?:

8o, 120 L 2R 5.12.15.16. 18,

140, 180 La: 3ELME 20.24.25.30.32

aisn S sLi,dn,m,m

------ 60, 64, 72, 75, 80,

80. 100, 120, 144,
150, 180, 180, 200,

240, 258, 288, 320,
384, 512, soo, 80O

PL/PF series

Precision Planetary Gear Boxes

Rotio/igi2 btk I=3:1~10,000:1
Backlash/[E] £ [E B < 3 arcmin
Output torque/fdiE ~1,800N.m
Frame size/## 89 PL40/PF40~PL200/PF215
Pz - S2 - MOTOR
Backlash Cutput Input
T B A SR T mE R
Po: S1: shaft &
S2. shaft with key HE#§E E=pith SRk
P1: W& Sa. gplined shaft ZE§E&e S B R
Pa: K1: Hollow shaft #%# st o TR MR 1
Rl ( ShALIERE ) '
K2: Hollow with key 7L R

3. SWpline hollow  FE3HZEL

T: Special require BEPESEER

OF 3. Case mounting
AR

OF 4: Fool mounting i EEE

Stardard connection if no mark

TR AMES2E @R TN

WPL/WPF series

Precision Planetary Gear Boxes

Rotio/id 1% Lk i=3:1~10,000:1
Backlash/[o] ¥2 i & < 5 arcmin
Output torque/Ei4s ~1,800N,.m
Frame size/#E8U55E WPL/'PF40-WFPL200/PF215
P2 - S2 == MOTOR
Backlash Output I nput
G W EERC T R
Fo: #ME  S1: shaft &
S2: shaft with key HiE# Eopep i
P1: W& 54. splined shaft 2E§Ess S B
F"E: i! A I HG"DW shaft ﬂ’l‘ﬁ, ﬁ#ﬁﬂﬂtﬂﬁ%
[ ShACHERE )
k2. Hollow with key BUETL R
K3: SWpline hollow {57

T: Special require BPAEEER
OF 3; Case mounting

L
OF 4: Fool mounting ik EEEF
Standard connection if no mak

TiRE RS EI @R E RS



PL(F)/WPL(F) series precision planetary gear boxes torque

PL(F)/WPL(F) &5 & & 17 2 i iZ 48 11 36

et PL40 PL 50 PLG0 PL70 PL 8 PL 90 PL 120 PL 140 PL 160 PL 200
meifmey PF 40 PF50 PF G0 PF70 PF 80 PF 90 PF 115 PF 130 PF 142 PF 215
WPL40 WPLS0 WPL60 WPL70 WPLB0 WPL90 WPL120 WPL140 WPL160 WPL200

Data f&RES M WPF40 WPF50 WPFG60 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215
chy 8 10 18 22 40 50 125 210 400 1,050
41 18 20 40 45 110 125 260 450 800 1,780
L1 5:1 16 18 a8 41 a0 110 230 400 700 1,600
B:1 22 26 55 65 125 260 550 1,000
8:1 5 B 15 18 50 55 120 210 450 850
10:1 12 15 22 32 70 130 210 305
9:1 ] 10 18 22 40 50 125 210 400 1,050
12:1 18 20 40 45 110 125 2860 450 800 1,780
15:1 16 18 36 41 a0 110 230 400 700 1,600
16:1 18 20 40 45 110 125 260 450 B0OO 1,780
@ 20:1 18 20 40 45 110 125 280 450 800 1,000
% o 25:1 16 18 36 41 a0 110 230 400 700 1,780
B 30; 1 a6 41 a0 110 230 260 700 1,600
% 32:1 18 20 40 45 110 125 260 450 800 1,600
= 36:1 22 22 55 G5 125 260 550 1,780
*; 401 16 20 36 41 a0 110 230 400 700 1,600
§ Nm 48:1 22 22 55 G5 125 260 650 1,000
£
i 50:1 20 25 50 67 120 230 450 700
é 641 & & 15 18 50 GO 120 210 450 1,000
% 48:1 18 20 40 45 110 125 260 450 800 1,780
= 60:1 18 20 40 45 110 | 125 | 260 450 | 800 | 1,780
= 64:1 18 20 40 45 190 | 125 | 260 | 450 | 800 | 1,780
75:1 16 18 36 41 90 110 230 400 700 1,600
BO: 1 18 20 40 45 110 125 260 450 800 1,780
a0:1 16 18 36 41 a0 110 230 400 700 1,600
100:1 18 20 40 45 110 125 260 450 800 1,780
120:1 18 20 a6 41 110 125 260 450 800 1,780
125:1 16 18 a8 41 a0 110 230 400 700 1,600
“* | 150:1 16 18 36 41 a0 110 230 400 700 1,600
160:1 18 20 40 45 110 125 120 450 800 1,780
180:1 16 18 a6 41 a0 110 110 400 700 1,600
200:1 16 18 a6 41 a0 110 230 400 700 1,600
240:1 36 41 a0 110 230 400 700 1,600
256:1 18 20 40 45 110 125 260 450 200 1,780
320:1 16 18 36 41 a0 110 230 400 700 1,600
384:1 22 22 55 65 125 260 550 1,000

512:1 & & 15 18 50 50 120 210 450 1,000



PL(F)/WPL{F) precision planetary gear boxes technical data

PL(F)/WPL(F) RIFETERERITESH

Type Stage/Bu5% fepy PL 40 PL S0 PL G0 PL 70 PL 80 PL 90 PL120 PL 140 PL 160 PL 200
PF 40 PF S50 PFG60 PF70 PF 8 PF 9 PF15 PF 130 PF 142 PF 215

Data 8 WPL40 WPL50 WPL60 WPL70 WPL80 WPLS0 WPL120 WPL140 WPL160 WPL200
WPF40 WPF50 WPF60 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215
““E i&‘:’fﬁé“g““ N 1,5times TeN 1 .5{EE=HE
e e | Nm 2 times TaN MRS
FT:T::;:{I';] i',ﬁf::':"" ¥ 165 185 240] 265 A0 450) 1,240 2,250 3,700 | 4,800
F“E’é’&n‘ %Eﬂ_‘”" M 135 150 220 230 420 430 1,000 | 1,500 | 3500 @ 4500
T':"EE'E'QH&.E':"W B[ 0,65 0.7 1,8 1,95 4.7 4,85 11 22 a5 55
"‘E";',':"ﬁ‘f ‘&“"" rpm 10,000 | 10,000 | 8,000 8,000 @ 6,000 8.000 6.000 | 4,500 4,500 | 4,000
A“;Efﬂ‘i”ﬂf“d rpm 4500 | 4500 | 4,000 @ 4000 | 3500 | 3500 | 3500 3000 | 3,000 | 2500
Moisa PF dRA) <56 <55 <5E <58 L] <kl 1.135 1] =70 =70
' g WPF B0 =G =B | <53 ok <58 =70 =75 =7E
Aur!?gj}:#!irglrm h 20,000
E"“'“';EE”&“;J" k| 18 =96% 2HE =04% 5 = 80%
= L1 <3 < <3 <3 <3 <3
Ppo| § |Lz <5 <5 <5 <5 <5 <5
@ La <f o f i oy E) <7
FL = L1 <14 < ]d <5 <5 <5 <5 s P w5 w5
FE F1 E L2 =18 =16 <7 =7 =7 =7 =7 <7 =7 =7
i3 = L3 <18 <18 <3 <l =3 <8 <3 <8 <3 <3
== e |La <20 <20 <14 <14 <8 <8 =8 <B <8 B
% F2 E L2 =24 =24 <16 <16 <10 =10 <10 =10 <10 =10
- e L= <8 <28 <18 <18 <12 <12 <12 =12 <12 <12
E £ L1 =5 <5 <5 =5 =5 =h
ﬁ Fi E L2 i o f i f o f o f < f
i WL W Lz <0 <0 <0 <0 <0 <0
- L1 <18 <16 <7 <7 =7 <7 <7 <f <7 <7
wee |F1| B [Lz <18 <18 <8 <8 <9 <0 <d <D <8 <0
® lLa 20 <20 <11 <11 <11 <11 <11 <11 <11 <11
= L1 22 =3 < 1h <1 <10 <10 =10 <10 =10 <10
P2 f |L2 <26 <0F <18 <18 <12 <12 <12 <12 <12 <12
= L3 <30 <30 <20 =20 =14 <14 =14 <14 <14 <14
3:1 0.031 0,031 0,135 0,135 0,77 077 2.63 5483 12.14 2518
4:1 0.022 0.022 0,083 0.083 0.52 .52 1.78 3.21 7.7T8 2430
51 00148 0018 0,078 0.078 0,45 .45 1.53 3.10 2,07 cid 4
ol &:1 0018 0,018 0,075 0,075 0,42 0,42 1,40 285 5,24 205.8
_ 21 0.7 0,017 0,085 (1065 0,39 0,38 1.30 210 4,63 58,80
i 1001 R L] 0,016 0,063 0063 0.32 0,39 1.28 1.95 4.60
G 154 0015 0.015 0,032 0.0348 0,72 0.72 2.40 3.35 T.47 E530
ﬁ g 201 0,007 0,007 0,045 0,028 0,35 0,35 1.60 2.73 &85 52,10
E E_,u 25:1 0.007 0.007 0.039 0.039 0.25 0.25 1.40 2256 8,65 52,10
L = Lz | 32:1 000y 0,007 0,038 0,038 018 2,18 1.40 2,25 o8t 50,00
E 401 0,005 0,005 0,027 0,027 0,18 018 1,30 2,25 5,81 50,00
E B 0,005 0,005 0,027 0,027 0. 1g 0,16 1.30 2.25 578 40,75
‘.L?- B 05 0.015 0.039 0,039 0.28 0.28 1.57 2.87 &85
201 0,007 0,007 0,039 0,038 0.25 0.25 1.38 2.25 2,10
100 0,007 0,007 0018 0,018 0,25 0,25 1,35 2,15 570 38,80
1601 0.013 0,013 0.018 0o1s 018 0,18 1.356 2.10 §.65 36,50
L3 20001 0005 0,005 0,016 016G o.18 2.8 1.30 2,10 T 32 85
2561 0,005 0,005 0,018 0,018 0,18 018 1,30 210 5,21 32,85
3201 0,005 0,005 0,018 0016 o1& .16 1.25 2.10 515 30,71
5121 0,005 0,005 0.016 0.8 018 0,16 1.20 2,10 5.15 2885
P L1 0.37 0ay 0,83 0,23 2,350 235 615 11,30 19,00 21
W PL{F) Lz 0,45 0,45 1,15 115 | 2,70 2,70 8O0 | 1350 | 2400 | 42
& k L3 0.55 .55 1.35 1.35 3,20 3.20 10,00 15,80 20,00 &0
B ol 0.51 0.51 1.7 1.7 4.4 4,4 12 17 26.5 50
= WPL(F) L 0,81 0,61 1,8 1,9 5,0 5,0 14 19 30,6 51
L2 0.71 0.71 2.1 2.1 5.5 5.5 16 21 32.8 70
{11Means: Allowing rdial force ard axdal faroe that furetan in owowt cenirz| place when outpu? speed = 100 rom, (48720 B 1 O0rpm s 18 TR S o0 B 2 W rioWiE s .
121 The waight of reducer in s bodk & approsdrmation the praclical & depend an e Tnished product ZIMESTEETEENFEEEEsEREHRREYL, NEEREC A,
{3) Tha mamant af inmrtia rolatas 1o tha ratio, frame. input shaf ard to slandand motor shaft . eie, FEENEERAEELE. REHAREE. EAETEEDERSM, HeaWn

R



PL40-PL200-0P2 motor mounting dimensions

PL40=PL200=-0P2 EHEERNX M RER T

output #&H
L3
L&1 LY L
Lz ¢
B €935
0 ]

input SHEHENA

PL40—200 8 3

input ST M
Frus

A2
D21

= I
&)

.

—#
N
2

A

N

D11

Other shaft F8 P =] 8 A0 6 o S5
E - S1 shaft Jih Sz shaft with key Eiid Sz splined shaft fEilih S:  special shaft 155
% - .f"1|_—-:|]3~ ] - -E_ I{Ji_g_ According to customers
2 L S| Ll AR B
E k1 hollow XA LireREE k2  hollow with key BRI kz splined hollow JERRF. kit special hollow %53
E " ) | | _‘j According to customers
F;' = fJ __Ei_ "ITL_-% I "_"%- H P EXREIE
o | S
ngéﬂgﬂf! PL40 PL50 PL60 PL70 PL80 PL90 PL120 PL140 PL160 PL200
Size/ R 1|12(3|1(2(3|1|2|3(1(2/3|1|2(3(1|2|3|1(2|3|1(2(3|1|2|3(1(23
B1 3 4 & & & 8 8 10 12 14
1 M4x10 M4X10 MEX12 L b MEx16 MEX1S MI10X22 MI12X25 | M12X25 M20xd2
H1 11.2 13,5 16 18 22,5 24.5 28 35 43 53,5
D1 o 34 44 52 62 70 80 100 120 145 184
02 4 x MLXE M4 X9 MEXE M5xX10 MEx10 MBx12 MI10X16 MI10X16 | M12X20 Mi12X22
_Lé D3 k¥ 10 12 14 16 20 22 25 32 40 50
g D4 o 12 15 17 20 23 23 35 40 80 110
E D5 h7 26 35 40 B2 60 68 B0 100 130 160
"3 o7 @ 40 50 B 70 80 a0 115 140 162 205
L1 16 14 290 25 25 25 40 b5 65 70
L2 25 25 2.5 3 5 5 & B 7.5 7.5
L3 23 18 30 28 a6 36 50 70 80 82
L4 25 24.5 25 a5 40 46 55 75 87 a0
L5 2 4 3 5 a 5 A 4 5 i
LF™ 385 | B3 |67.5(335(495 655 | 48 | 69 | BG (475|675 |B75 |65 BSS (1105 65 | 77 (101 | 74 | 104 134.5( BB 1235 162 | 55 13451736137 1765] 216
AD motor | HRIEEHEAL motor | EBEH motor | RERN motor | HIEHEAL  motor | HREEEAL
B2 motor | HRIEEYL | moter | WERH | motor  RERN | moter | BEEY motor | RERA
. H2 2 motor | HUEIERHL | motor | BIREEL motor | BB motor | BEEYL | motor | HUEESEMN
:’: 011 ‘E% motor HIERE AN maotor MiEm motor FREER A maotor R R maotar RN
ﬁ 021 _31 E motor | HEEEHL | motor | BAREH motor | HESEIL motor | HEEEYL | motor | HESEMN
_E D21 %E mator HERY  motor BiEmgl  motor HER maotor MEREY  motor HaEpEi
g 051 Eﬁ motor AR motor | BEEH | motor | REEBN moter | EEERL motor  RERN
| L3t motor | HUEEEAL  motor | HBEEH motor | HMEEEIL | motor | BIMEH | motor | HHEREM
L5 motor | HRIBEELL moter | BEEEH motor REEI moter  REEYL | motor HEEHEA
LG motor | HREHEA | motor | BEBEH | motor | REEHM | motor | BEHEH motor | HERMN

{1idimensions refer to the mounied motcr—iype the size can be changed
(2dimansions refer to the frame of the boxes, the size can be changed

(NESSHERFERSHIENER EERTALTEL
(2nELE N R SR R Rl ey



PF40-PF215-0P2 motor mounting dimensions

PF40=PF215=0P2 BB IZENR I RERT

output §H

input 8§ A

PF40—160HR 3

7

)

input EEEEEA
EPER

1 4
o ——t

- I-'IE-

Other shaft 8 P o]0 1 RE

D11

% S shaft 7l Sz  shaft with key Bl S3:  splined shaft FE40N St  special shaft {5k
= ® ] _
i r,-' B }3 ] }a |/ %’ nmur;:'r;g ltn:;;ﬁt;m ers
g \ L
E ki hellow XH L senss kz  hollow with key BB k:  splined hollow FERAF. ke special hollow &I
(=] 17 —
-:EL : / i :@ _.E'I. o _[Z_ — % According to customers
5 ] I T AP EREE
T"p‘?ﬁﬁﬂ HH PF40 PF50 PF&0 PF70 PF80 PF90 PF115 PF130 PF142 PF215
Size/ R~ 123|112/ 3|1(2(21|2/3|1|2|3(1(23|1|2|3|1(2/3|1|2|3|1|2|3
A 45 55 60 75 a0 85 120 145 175 215
B1 3 4 5 5 & & 8 10 12 14
C1 MdX10 MaX10 M5X12 Ms5X12 MEx16 MBX19 M10X22 M12X25 | M12X25 M12x42
H1 1.2 13,5 16 18 22,5 24.5 28 35 43 83,5
D1 T a0 60 70 85 100 110 130 160 185 235
; D2 ax 3.5 D45 D55 o55 DE.5 6.5 DB.5 11 D11 D13.5
ﬁ D3 T hG 10 12 14 16 20 22 25 32 40 50
g D4 o 12 15 17 20 25 25 as 40 &0 BhH
E_ D& ®h7 26 45 50 50 80 85 110 120 120 180
g v D 40 50 &0 70 20 80 115 140 162 205
L1 16 14 25 25 25 25 30 25 (5151 70
L2 2.5 25 2.5 3 5 5 5 6 7.5 7.5
L3 23 18 30 28 36 36 a0 70 80 B2
L4 26 24.5 as 35 40 48 55 75 87 90
L5 2 4 3 5 3 b 4 5 b G
g 85| B3 [BF5 (335 (405 655 | 45 |67 | %5 475|675 |EVE | BD (BES MOS B | VT 101 74 104 135 B 205 162 | 05 13450735 137 1765 216
AZ motor  HRFEEEL  motor | BIEMEIL motor BERHM . motor | BEEI motor REHEE
B2 malor REmEL | molor HERY, malor RiES motor WIEMYL maolor HAERH
:l" H2 5 &  Motor MR motor L R motor R HEER AN motor L HE AN motor HAE B
¥ | D11 | 2 E motor | MIEMHL  motor | MIERSL molor | REFERH | molor | WA | motor | BRI
iﬁ D21 |8 | motor HREELAL motor HERY motor fRHEE AN motor BRI motor HEEH
E D31 g E mator REmEE  motor BPERYL motor HRiER motor WEEY | mator HERH
.E D51 E E mator ALY motor BB motor HH AN motor g rmator LS AN
= | L3 = motor  HISEEEL motor  BWEREL . motor WERM | motor | BEAEHL motor | HREHEA
L51 malor HEEmEEL  motor FMERE molor REER motor WIEMRAL motor HAER
L& motor | HIHEEEEL  motor | BIEAEYL | motor | HEERUL 0 motor | WIEEYL | motor | BRIESEN

i1idimensions refer to the mounted mator—iype the size can be changed
(2idimansions refer to the frama of the boxes the size can ba changed

(MEESNERMERMNERER EERTALFEE
(2)E L I PR ) SR M M B R ATl



WPL40-WPL200-0P2 motor mounting dimensions
WPL40=WPL200-0P2 BB ZERXHBRERT

output B H input 8N input ST
WPL40—-20088 3 wPAER
D51
| al |2 L3 A2
- i Eﬁ.%iﬁ ez e T
/ﬁ_ W g = P . _l_\H
! b
-!d-_ f e \ll}q‘-& = ..-*_EB{;
3| | \o1 L8 17 214 | o |
Other shaft 8 P =] 3 45 00 6 o ER
":i . 51 shaft Ftih S2 shaft with key Ess 51 splined shaft 3£ S5t | special shaft 9578
5 | ) I According to customers
e (o= = | BRERUE
E ki hollow RHILiseszz kz hollow with key E2M¥.  k:  splined hollow E#HI. ke special hollow S8 f
2 ,
= - K - % _(_ L _é-_ % According to customers
-g' \ ‘ ﬁ APEREE
T"";‘;‘;‘n WPL40 WPLS0 WPL60 WPL70 WPL80 WPL90 WPL120 WPL140 WPL160  WPL200
Size/R. 112/ 3(12|3|1|2|3|1(2|31 23| 1|2|3(1|2|3|1(2|23|1 231|223
B1 3 4 5 5 8 & ;] 10 12 14
1 M4X10 hA4X10 MEX12 MaxX12 MEx16 MEX19 M1Dx22 M12x25 M12x25 M20x42
H1 11.2 135 16 18 22,2 24.5 28 35 43 53.5
01 @ 24 44 52 G2 70 B0 100 120 145 184
E 02 4dx MaXE R4XD MEaXE MaX10 MEx10 Mex12 Mi0x16 MIDX 16 M12X20 M12X22
§ 03 h¥ 10 12 14 16 20 22 25 32 40 &0
‘i 4 12 15 17 20 25 25 35 45 b 110
E_ D5 h? 26 a5 40 52 &0 68 g0 100 130 160
3 | D7 40 50 60 70 80 80 115 140 162 205
L1 16 14 25 25 25 25 40 55 B5 T
L2 2.5 2.5 2.5 3 5 & 5 i 8 7.5
L3 23 18 20 28 26 26 &0 70 a0 B2
L4 26 245 35 35 40 46 2b 75 85 a0
L5 2 4 3 5 3 5 4 5 & B
o 85 53 675 335 (405655 4B 67 86 | 475675 EBTS 6% BG5S 1105 5% | 7T 100 T4 | 104 1345 | 8BS 1235 f62 | 95 (1451735 137 1765 216
L8 44 44 75 T 103.6 103.6 125.5 140 151.2 205
A motor HAEMmAL maotor HEE A motor RIEM maotor RIEMmAL motor HERN
B2 motor B AL motor RS s 5 B A mator R EL ol HEE
'# H2 | i motor | HEREHL | molor | iREEMAML motor | i@ moter | B motor | iR
E 011 'E E motor HEEmAL maotor HEE AN motor RiEmin maotor KM AL motor g
< | D21 Sp maotor ISR mator HEHE rrctor REEH mator HIEHEL rrotor HEEH
_—g D31 :'1:33 E mator BB | molor LR molar e motor LR AT mctor 38 B A
'g;_ D51 E E mator e ok mator R B miokor Higam mator R AL motor HiEam
L motor ML motor HERE ] g Twiluls BESH maotor HIEHEL rotor HEEH
L51 motor HIEmEL maotor HEmA motor RiEgmi motor HIEmEL motor WHEDHL
LG1 mator HLAR A motor R, motor RiERmN mator MR AL motor HIERN

MiEEgRERFARANERER EERTALREE
(2E LG R A BN N R Rl

{1}dimensions refer to the mounted moter~type the size can be changed
(2ydimansions refer to the frame of the boxes the size can be changed



WPF40-WPF215-0P2 motor mounting dimensions
WPF40=-WPF215=0P2 BB RN MY RERT

output 84 input &8 FIRAST A input SRS E A
” D51 PF40— 1604 3 FPAEE
S B L 2
) TR g [
g ;%ﬁ o ) 7 =
23\ e B2
Hisgly 1. ] | el = 1. 1k
N MEE 1
'*-—-#jr--- LE \}# I— _ fﬂ{'
o1 L7 L4 D11
Other shaft F P =] iR &0 0 ! 257 8
5 51 shaft 7 5z shaft with key Sl 53 splined shaft £l S+ special shaft }3F88
L8 T ) i -
g a"l e ) F Etﬂ‘ According to customers
3 | l FA PR BIHE
a \ ' |
_?é k1 hollow R ILismmEE kz  hollow with key BRRAFL k: splined hollow FE@AF. ke special hollow 358l
(=]
-g- : I.'JI B __ﬁ _% 'fl = According to customers
g | | _ | | A ERE
T"";:E' WPF40 WPFs0 WPF60 WPF70 WPF80 WPF30 WPF115 WPF130 WPF142 WPF215
Size/ R 1123023123 (10 (2 3|V (28| 2[3|1[2[3|1[2]|3|1 237|283
Al 45 55 B0 75 a0 95 120 145 175 215
B1 3 4 5 5 B B ] 10 12 14
C1 MAX10 MAX10 MEX12 MEX12 MEx16 MEX1D M10x¥22 MI12x25  M12X25 M20x42
H1 11.2 123.5 16 18 22.5 24.5 Pk | 35 43 53.5
D1 i 50 B0 70 B5 100 110 130 160 185 235
E D2 4X® D a5 4.5 D55 @55 WE5 065 8,5 11 11 13.5
¥ D3 ohs 10 12 14 18 20 22 25 a2 a0 50
g D4 @ 12 15 17 20 25 25 a5 45 B0 B3
*;51 D5  ®h7 26 45 50 50 80 85 110 120 130 180
E Ov 40 a0 &0 70 80 a0 115 140 162 205
L1 16 14 25 25 25 25 40 b G5 o
L2 25 2.5 2.2 3 3 5 5 & 3 7.5
L3 23 18 20 28 36 36 50 70 80 82
L4 26 24,5 5 a5 40 46 55 75 85 80
L5 2 4 3 5 3 5 4 5 5 6
L7 ™ 385 53 675 335 485 655 48 |67 B8 |4TH GTH BTG | 65 BESM105 RR | TV | 100 | T4 [ 104 N345| BS 1235 162 | 95 13451735 137 (1765 216
A2 mator He R mator R mator HEER A motor H i AT mator HRiE A
B2 mator HE TR A mator REER mator HIEEAL malor HE TR A mator HRiEE
:I" H2 54  motor Hife A motor | HEEEE motor | MR motor i AT mator | HEREN
% D11 | E F mator HEEE A mator R mator AR motor H AT mator IRiER
< | D21 *31 HE;':- mator R mator RER malor AR motor R A mator iR
g D31 '% ﬁ motor HREEE rmator EEdH molor HiEmi motor R mator BEiEga
& D51 |= ¥ | motor HigE R mator Bims mator iR motor Hi s A mator i i FE L
= L31 motor R rmalor FEEEE AL rmclor L motor H g malor R
L51 matar MR mator Himgm mator W maotor e EAn mator B
L& matar HREE R mator R malor AR motor HEHE A mator IR

{1idimensions refer to the mounied motoriype the size can be changed
(2idimansions refar to the frame of the boxes tha size can ba changed

NiEEEEERFERSNERER EERTAFELE
(21 L U DAL I R () BRI B IR R T AT LA R



